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( Honours Generic/Regular)

Answer the Questions from any one Option.

OPTION-A
For Honours Generic/Regular
Paper : BOT-HG-3016/RC-3016
(Plant Physiology and Metabolism )

OPTION-B
For Honours Generic
Paper : BOT-HG-3026
( Environmental Biotechnology)

Full Marks : 60
Time : Three hours

The figures in the margin indicate
Jull marks for the questions.

Answer either in English or in Assamese.
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OPTION-A
Paper : BOT-HG-3016/RC-3016
( Plant Physiology and Metabolism )

1. Answer the following questions as directed :
wote Al emitaRe et et e 1x7=7
(i) Which one of the following statement is

correct when a cell is fully turgid ?
(@ DPD = Op

(b) DPD =0 (zero)

{c) WP = 0 (zero)

(d) OP = 0 (zero)

T e @B @R cva s GG
& o1

(a) DPD = Op

(b) DPD = 0

(c) WP = I«

(d) OP = #m;

(i) Who first Proposed the
and cohesive force of
ascent of sap ?

(@) Dixon and Jolly
(b) Ssir J. C, Bose
{c) Noggle ang Fritz
(d) Boehm

transpiration pull
water theory for
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(i)

ATT T51 TR AR NS TSI (I AL
SloRpIRfEET ?

(@) &3 =R Sl
(b) o . B.
(¢) TN oS e
(d) I

Which one of the following is not an
essential micro elements ?

(a) Boron

(b) Iron
(c) Manganese

(d) Potassium

RIS @G CTe SRR S Ghe
24 ?

(@ T
(b) oW
) o
(d) <oifoas
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(iv)]  Who first coined the term photoperiodism ?
(@) Curtis and Clark
(b) Garner and Allard
(c) Miller and Skoog
(d) Salisbury and Ross

I (o 29 “ThrsiRafeRm (R
afefEFa) =1t ebem w2 T

(@) 66w TR
(b) R = Gsfie
(c) BT &R ot
(d) CRFRS o= 37

(v) Swelling of wooden doo
. . rs and win,
during rainy season in due to dows

phenomenon. (Fill in the blank)

MR 7S 169 T %t RS et

AP AR | (I 3T 7397 )
(vi) Indole-3-acetic acid is belongs to
group of plant growth regulators.

(Fill in the blank)

E1-3-90F S TR coifvs SR
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(vii) In Calvin cycle, how many ATP molecules
are required to produce one molecule of

glucose. (Answer directly)
o1 g7e T9T A} PR FAfoR e (L
ATP 93 SCASH | (2o T 73)

Write short notes on the following: 2x4=8
(@) Importance of osmosis in plants

(b) Role of phosphorus in plant growth

(c) Co-enzymes

(d) Vernalin

fTaie 2T By (oIt fordi e

(@) Tfere wpjfex o3y

(b) TR oo T g

(c) FETLHF
(d) S
Answer any three of the following questions :
5x3=15
(a) “Cell is an osmotic system”. Justify the
comment.

(b) Write notes on various agents of
biological nitrogen fixation.
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(¢) Theory of starch = sugar interconversion
in stomatal opening and closing.

(d) Cytochrome pump hypothesis.

(e) Describe Munch hypothesis of
translocation of solutes.

Resie Rt fofs emm Teg fmy ¢
(a) T I 4R SRS OF —2efor o 1 |

(b) LT TR RfowTe v e Rfvw
WIERE R o3 forai

fc) 1aTH ] AP AT AFAS oveAT = fq
Wi%AARIER g 31 = |

(d) BRIBIFT *i™5 Toqm|
(o) (TRER ~ARITIS TR Toawm 3 = |

4. Answer any three of the following questions :

10x3=30
s Ricenar 6! emR ov ik ¢
(a) What is enzymes ? Describe the modern

system of enzyme classification with

suitable examples. 2+8=10
T A 6 e 2 Berve Sy ey
Ree T 7 IR 3|

(b) Write a short note on Kranz anatomy
with suitable diagrams. Describe in detail
the C4 cycle of photosynthesis, 4+6=10
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(c)

(d)

(e)

(TG TN TACE AT GYF 4K G
B3 | AENTETR C, 5&F I 0
What do you mean by C; and C,; plants ?

Mention the differences between C3 gnd
C4 plants. 5+5=10

G W% C, Sfiw et & |1 G | Gy
B woe 49 TP Fitka =10

ive an schematic represent:?.tion of
S;Z:plasmic respiration. Describe how

oxidative decarboxylation of pyruvate i_nto
Acetyl Co-A. 5+5=10

PN WS ([FAIDER YT Torgom
ﬁ e A RAeme Al ~ieeT afbes
[l PR “afbbiEs ¥ @ @”
(Acetyl Co-A) oS T Il |
What is auxin ? Discuss the physiological

i of auxins in plants.
role and functions ey

. ofw r Tfre w19 Redin i

Wi I T2 T

t do you mean by photope;riodic
xlgl?lctiony? Describe in .detall the
mechanisms of photoperiodism. 2+8=10
PRI TRiel T 1 g ¢ R afefenR
s R oI @ =i
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OPTION-B
Paper : BOT-HG-3026
( Environmental Biotechno logy)

1. Answer the following questions : 1x7=7
weTe Al PRI e i g
(@) Name one secondary pollutant.

Bt (T ATEET A ot

(b) Name a Ramsar site of the state of
Assam.

OFT S O ANRR FR [N B |

(c) Name one NGO from Assam that work

in the field of environmenta] conservation
and ecology.

#HRC e o AR Re g i
N TR Bl [EITIR AR A oy |

leads to reduction in the dissolved
oxygen.

(@)

I T© Tge i 29 iy
(e) What is the full form of COD

COD 3 5~ 9 {2
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(9)

From which district the Chipko
Movement started ?

@R BER 2[R Bl Sirwiew See (et e

Where is the headquarter of United
Nations Environment Programme (UNEP)

situated ?

PRR AR FEPW (UNEP) T3 IR
F'o RS ?

Write short answers : Ix4=8

afS TR T it 2

(@)

(b)

(d)
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What are the various components of acid

rain ? :
afe 7wgR Riva TAmm & fe
Write two disadvantages of trickling filter.

B R 70 SRR ot
What is air quality index (AQI)?

A welesd PIRT (AQN) e

What is environmental ethics ?

i Tl
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3. Answer any three of the following: 5x3=15
Weare Rieezar fof6 Tew forat ¢

() Give a brief account of indoor aijr
pollution.

A foow 1 e vy Reaet o

(b) What are the effects of increased carbon
footprints ?

PR ToRAG IR/ dor B foe

() What are the positive and negative
impacts of trade on the environment ?

AR esiTe MR o o oA
ooR & &2

(d) Describe the process involved in ap
oxidation pond.

wResd AT wfts aftm s <

(e) State the functions of the Central
Pollution Control Board.

@@?Wﬁﬁm?{’@%ﬁwwml
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4., Answér any three of the following : 10x3=30
farairat oo oma T’ e

i What are the

@ W e B gascs ? Statc fow

measures to reduce emission of green-

house gases. 342+5=10

Civw g Yo [ 24 oS 9% IR

o (oG 97 (TR el 21 TR AR g
7R S |

. . . t
tate few major causes for environmen

) xsnovements in India. Give an account of
the Narmada Bachao Andalon. 4+6=10

e ARG IR R 2 e B
2l | T <ote SCER R

(c) Give an account of International NGOs

' in the field of environment.
that work In o

AR O T T ST < o oo
e frn!

:« Kyoto Protocol? Describe the
@ Z{aliliz;tlsfeat{lres of the Kyoto Protocol.

2+8=10

s o5 o D odo'wR TERTSS
TaRRpE I
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(e} What is bioremediation ? Give an
account of molecular approaches in

bioremediation. 2+8=10
o efeny [IRReiftas) &1 tom eferire
s mfet Reed faant

() Give an account of the Rio declarations
on environment and development. What
were the important outcomes of the Rio

Earth Summit 1992 ? 7+3=10
AR % TR eowe [Rerq

Rt Tt 1 9553 57 R =l Qe aagsief
Feree e e
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